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Pautes de correccio Electrotécnia

SERIE 4

Primera part

Exercici 1
Q1 d Q2 ¢ Q3 ¢ Q4 ¢ Q5 a

Exercici 2

a) U1=(R1+R3)/1+H5(/1+/2) N 5023/1+4(/1+/2) %/125,758A
U2=<H2+R4)/2+H3(/1+/2) 4023/2 +4(/1+/2) /222,424A

b) P =Usy=287,9W; P =Uplp =96,97 W

c) 4'= Y _50 4566
R1+R3 3
' U —ﬂ=13,33A

2" R,+R, 3

I'(Rs)=l'+1r' =30 A

OPCIO A
Exercici 3
a) — - VR=V>
! U
VC = V4

b) XC=4=115£2

6) Vo = U2~ V2 =2302 1152 =199,2V

d) P=V,/=199,2 W
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Exercici 4

p _10 100000 _89.8%
J3Ulcos ¢ J3-400-196-0,82

a) 1(%)=100

b) p =1 parell de pols

P 100000
c) T —@

=—= =329,3Nm
© 2900
60

d) Estrella, /i, =196 A

OPCIO B
Exercici 3
1( UV U2 4002
a) P=3—|—| —> R=—=——"_=16Q
R\ /3 P 10000
2 2 2
X,
o) 0=3x |-L| - x =L -390 _i60,1-%c__1® _5093mH
3 Q 10000 o 100-7
P 10

=0,7071(i)

c) fdp=cos _P_ =
TSR o210

2 2
2z |(U u Y U [1 1 _ 400
d) Ill’nia— IR+IL _\/(\/gRj +[\/§XLJ —ﬁ ?-I-_XE ——\/516\/5—20,41A

Exercici 4

a) /=£=@=13,89A
U 36

R= pé = 0,01786? =0,04465 Q

AU(%) =100 25' _1002:0,04465-13,89 3,45%

b) 16 A

2R 2.0,04465



